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1.
Heights	of	10	students	are	given	below.	Find	the	mean.
Height	(in	cm) 137 159 161 163 165
No.	of	students 1 1 1 4 3

(i) 807
5 cm (ii) 802

5 cm (iii) 803
5 cm (iv) 804

5 cm (v) 812
5 cm

2.
Heights	of	10	plants	are	given	below.	Find	the	mean.
Height	(in	cm) 54 62 63 71 81 90
No.	of	plants 1 3 2 1 1 2

(i) 349
5 cm (ii) 70cm (iii) 351

5 cm (iv) 354
5 cm (v) 359

5 cm

3.
Ages	of	25	students	are	given	below.	Find	the	mean.
Age	(in	years) 10 11 12 13 14 15
No.	of	students 4 1 7 1 6 6

(i) 324
25 years (ii) 323

25 years (iii) 322
25 years (iv) 347

25 years (v) 372
25 years

4.
Scores	of	25	students	are	given	below.	Find	the	mean.

Score 72 73 74 75 77 79 80 81 86 87 88
No.	of	students 4 3 2 1 2 3 3 1 4 1 1

(i) 1962
25 (ii) 1961

25 (iii) 1963
25 (iv) 2011

25 (v) 1986
25

5.
Rainfall	of	15	days	are	given	below.	Find	the	mean.
Rainfall	(in	mm) 6 8 9 10 11 12 13 14
No.	of	days 3 1 3 1 3 1 2 1

(i) 178
15 mm (ii) 149

15 mm (iii) 163
15 mm (iv) 148

15 mm (v) 10mm

6.
Temperatures	of	20	days	are	given	below.	Find	the	mean.
Temperature	(in	degree	C) 25 27 28 29 30 31 33 34

No.	of	days 3 4 1 3 2 2 2 3

(i) 147
5 °C (ii) 148

5 °C (iii) 157
5 °C (iv) 152

5 °C (v) 149
5 °C

7.
Weights	of	30	students	are	given	below.	Find	the	mean.
Weight	(in	kg) 41 49 51 52 53 55 56
No.	of	students 6 4 3 1 8 6 2

(i) 757
15 kg (ii) 1513

30 kg (iii) 101
2 kg (iv) 1573

30 kg (v) 1543
30 kg



8.
Wages	of	25	labourers	are	given	below.	Find	the	mean.
Wage	(in	rupees) 314 379 406 412 428 432 455 457 458
No.	of	labourers 3 3 5 1 1 4 4 1 3

(i) ₹413.12 (ii) ₹414.12 (iii) ₹413.20 (iv) ₹415.12 (v) ₹413.16

9.
The	following	table	shows	the	weights	of persons	in	a	group.Find	themean	weight.84
Weight	(in	kg) 10	-	17 18	-	25 26	-	33 34	-	41 42	-	49 50	-	57 58	-	65
No.	of	persons 17 11 18 7 10 13 8

(i) 242
7 kg (ii) 1451

42 kg (iii) 1453
42 kg (iv) 1535

42 kg (v) 1493
42 kg

10.
The	following	table	shows	the	weights	of persons	in	a	group.Find	themean	weight.106
Weight	(in	kg) 30	-	36 36	-	42 42	-	48 48	-	54 54	-	60 60	-	66 66	-	72 72	-	78
No.	of	persons 18 16 9 9 12 16 16 10

(i) 2814
53 kg (ii) 2815

53 kg (iii) 2816
53 kg (iv) 2867

53 kg (v) 2920
53 kg

11.
The	daily	wages	of workers	in	a	factory	are	given	below.Find	themean	wage.175
Wage	(in	rupees) 30	-	35 36	-	41 42	-	47 48	-	53 54	-	59 60	-	65 66	-	71 72	-	77
No.	of	workers 10 20 17 23 26 29 28 22

(i) ₹56.30 (ii) ₹58.29 (iii) ₹56.29 (iv) ₹57.29

12.
The	daily	wages	of workers	in	a	factory	are	given	below.Find	themean	wage.112
Wage	(in	rupees) 30	-	37 37	-	44 44	-	51 51	-	58 58	-	65 65	-	72 72	-	79
No.	of	workers 11 22 17 11 13 24 14

(i) ₹56.06 (ii) ₹55.19 (iii) ₹57.06 (iv) ₹55.06 (v) ₹55.12

13.
A	frequency	distribution	table	is	given	below.Find	themean	.
Class-Interval 9	-	15 16	-	22 23	-	29 30	-	36 37	-	43 44	-	50 51	-	57 58	-	64
Frequency 50 20 29 3 21 48 27 4

(i) 7035
202 (ii) 3316

101 (iii) 6633
202 (iv) 6833

202 (v) 6631
202

14.
A	frequency	distribution	table	is	given	below.Find	themean	.
Class-Interval 3	-	8 8	-	13 13	-	18 18	-	23 23	-	28 28	-	33
Frequency 21 28 27 16 35 2

(i) 1407
86 (ii) 4477

258 (iii) 2110
129 (iv) 4735

258 (v) 4219
258

15.

The	following	frequency	distribution	table	givesthe	monthly	consumption	of	electricity	of
consumers	in	a	locality.Find	themean	units.

77

Monthly	consumption	(in	units) 72	-	82 82	-	92 92	-	102 102	-	112 112	-	122
No.	of	consumers 13 13 13 19 19

(i) 1093
11 units (ii) 7649

77 units (iii) 7803
77 units (iv) 7726

77 units (v) 7650
77 units



16. The	histogram	given	below	represents	the	marks	obtained	by	some	candidates	in	an	examination.
Using	data	in	the	diagram,	calculate	themeanmarks.

(i) 70.02 (ii) 71.02 (iii) 73.02 (iv) 69.02 (v) 72.02
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